11”158 (Kl 1”158)

Linearized knot diagam

279*)1764)5*)8*’34’44’7*’114’10%04706709
C1 Cs 1

Ideals for irreducible component#ﬂ)f Xpar

I = (b —u, —159345685747u'® + 147982590951u'" + - - - + 967274427870 + 357093230263,
u19_u18+”__u_|_1>

1Y = (b+u, 4343u'® + 7110u*" + - + 4787a + 1912,
u'® +u'? — =300 — 20° 4 ¥ — 208 +u® —dut — 203 — 202 - 1)

IY = (1.31062 x 104! — 1.74217 x 10*%u™ 4 .- +9.51505 x 10'7b 4 6.50537 x 10'7,
1.97533 x 101%u!® — 3.11116 x 10™u' + - -+ 4+ 5.49461 x 10'7a + 2.28716 x 107, u' — 3u'® +

* 3 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I = (b—u, —1.59 X 10" 4!® + 1.48 X 10" u'7 + - - + 9.67 x 10'% +
3.57 x 10, u!® —u'® ... —u 4 1)

(i) Arc colorings

1
ag =
1
u
1.64737u'® — 1.52989u!7 + - - - 4+ 32.1590u — 3.69175)
u

ag =
[
ag =

as =

1.64737u'® — 1.52989u!” + - - - 4 31.1590u — 3.69175)
U

2.27741u'® — 2.43525ul7 + - - 4 37.2324u — 9.52801 )

ag = (o 111340u'® — 0.0665068u'" + - - - + 2.52989u + 0.117475

—0.820898u!® + 0.672626u'” + - - - — 23.6867u — 3.53398
0.162954u'® — 0.347555u'” + - - - + 0.470733u — 0.393621

—1.01209'8 + 0.851055u!” + - - - — 23.4848u — 2.99209
0.340664u'® — 0.462435u'7 + - - - + 0.649162u — 0.380858

2.55969u'% — 2.59941u'7 + - - - + 42.1976u — 9.56837
—0.0125024u'® — 0.0176043u'™ + - - - + 2.36573u — 0.000645074

2.20417u'® — 1.64059u'7 + - - - + 52.9687u + 7.25501 )

az =

—0.191192¢'® + 0.178429u'7 + - - - + 0.201893u + 0.541893

0.426507u'® — 0.339257ul” + - - - 4 12.4593u + 5.79766
—0.340664u'® 4 0.462435u!™ + - - - — 0.649162u + 0.380858

0.426507u'® — 0.339257ul” + - - - 4 12.4593u + 5.79766
aio = \ —0.340664u'® + 0.462435ul” + - - - — 0.649162u + 0.380858

a0 =

(ii) Obstruction class = —1

(iii) Cusp Shapes
— 162836171512, 18 _ 43813217810 17 4 . | 1086609567736, | 428864721314
= 96727442787 32242480929 32242480929 96727442787




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs u — w4 w1
C2 u'® — 100 + -+ 21u 46
€3 u'® —9u'® + .. £ 52u — 16
Cy4, Cg, C1Q w® —9u® ... —4u? + 16
Cg, C7,C11 W et 4 2u+1
c8 u'® +9u® £+ 34u +4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y 15y 4Ty — 1
€2 y'? —20y™® + - + 273y — 36
€3 y'? — 25y + ... + 6064y — 256
€4, Cy, C10 yt — 17y 4. 4+ 128y — 256
C67c77cll ylg _33y18++12y_ 1
cs g — !+~ 116y — 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.074551 4 1.0051501
a= 0.755499 — 0.2681821
b= —0.074551 + 1.0051501

—6.47985 — 3.007811

—9.19206 + 3.400121

u = —0.074551 — 1.0051501
a= 0.755499 + 0.2681821
b= —0.074551 — 1.0051501

—6.47985 4+ 3.007811

—9.19206 — 3.400121

0.719291 + 0.8702151
a= 0.618624 + 0.0415281
0.719291 + 0.8702151

—0.22723 4- 2.574831

—7.79227 — 4.003701

uw= 0.719291 — 0.8702151
a= 0.618624 — 0.0415281
0.719291 — 0.8702151

—0.22723 — 2.574831

—7.79227 4 4.003701

u = —0.015666 + 1.1863401
a = 1.00740 — 1.048181
b= —0.015666 + 1.1863401

—8.13053 + 0.976891

—10.22917 — 0.272051

u = —0.015666 — 1.1863401
a= 1.00740 + 1.048181
b= —0.015666 — 1.1863401

—8.13053 — 0.976891

—10.22917 4 0.272051

u = —0.799079
a = —0.714422
b= —0.799079

—1.52055

—7.33430

u = —0.197897 + 0.6434341
a = —0.839512 + 0.0614651
b= —0.197897 + 0.6434341

—0.928589 +- 0.6841231

—8.21629 — 4.457351

u = —0.197897 — 0.6434341
a = —0.839512 — 0.0614651
b= —0.197897 — 0.6434341

—0.928589 — 0.6841231

—8.21629 + 4.457351

u = —0.78204 + 1.183711
a = —0.553988 + 0.0032371
b= —0.78204 + 1.183711

—5.79784 — 5.729741

—14.4693 + 5.05631




Solutions to I}

V=1(vol + y=1C)

Cusp shape

uw = —0.78204 — 1.183711
a = —0.553988 — 0.0032371
b= —0.78204 — 1.183711

—5.79784 4 5.729741

—14.4693 — 5.05631

u = —0.58654 + 1.326381
a = —1.071040 — 0.3147061
= —0.58654 + 1.326381

—8.63276 — 7.825601

—8.78089 + 5.391081

= —0.58654 — 1.326381
= —1.071040 + 0.3147061
= —0.58654 — 1.326381

—8.63276 + 7.825601

—8.78089 — 5.391081

= 0.70619 4 1.277681
= —0.185916 — 1.0770901
= 0.70619 4 1.277681

—15.6607 + 4.68241

—10.38940 — 2.409521

0.70619 — 1.277681
= —0.185916 + 1.0770901
0.70619 — 1.277681

—15.6607 — 4.68241

—10.38940 + 2.409521

= —4.15202 4 6.067891
= 0.050654 + 0.2055311

2.26122 + 2.633371

2.15678 + 7.219531

= 0.050654 — 0.2055311
= —4.15202 — 6.067891
= 0.050654 — 0.2055311

2.26122 — 2.633371

2.15678 — 7.219531

= 1.08010 + 1.606531
= 0.778162 — 0.0841781
= 1.08010 + 1.606531

—16.5060 4 12.72541

—9.92028 — 5.579411

= 1.08010 — 1.606531
= 0.778162 + 0.0841781

b
u
a
b
u
a
b
u
a
b
u= 0.050654 + 0.2055311
a
b
u
a
b
u
a
b
u
a
b= 1.08010 — 1.606531

—16.5060 — 12.72541

—9.92028 + 5.579411




II.
I} = (b+wu, 4343u'?+7110u +. .- +4787a+ 1912, u'® +u'?+... —2u%—1)

(i) Arc colorings

- )

o= (o)
o= ()
0.907249u'2 — 1.48527u!! + - - - + 1.45874u — 0.399415
ag = —Uu
—0.907249u'2 — 1.48527u! + - - - + 2.45874u — 0.399415
a5 = —u
—1.64216u'2 — 2.04115u!! + - - - 4+ 2.52663u — 1.91936
ag = | 0.199081u'2 + 0.339043u!! + - - - 4+ 0.0927512u — 0.578024
—0.578024u"2 — 1.37894u! + - - - 4+ 1.60058u + 2.09275
a3 = |\ —0.300606u'2 — 0.253812u + - .- — 0.757050u + 0.0963025
—0.137456u'2 — 0.933988u!! + - - + 1.77961u + 1.19553
a4 = \ —0.604972u'2 — 0.393357u!! + - .- — 0.316482u + 0.100689
—1.74493u'2 — 2.58450u'! + - - - 4 4.26154u — 2.09839
a7 = \0.194694u'2 + 0.639022u'! + - - - — 0.0100272u — 1.01859
—0.399415u'2 — 1.30666u'! + - - - + 5.21370u + 2.45874
0.440568u'2 + 0.444955u' + - - - + 0.179027u — 0.897222
0.374556u'2 + 0.339879u! + - - - + 1.20389u + 1.04470
a10 = \ 0.604972u'2 + 0.393357u!! + - - - 4 0.316482u — 0.100689
0.374556u'2 + 0.339879u'! + - - - + 1.20389u + 1.04470
a10 = \ 0.604972u'2 + 0.393357u!! + - - - 4+ 0.316482u — 0.100689

(ii) Obstruction class =1

_ 1416412 | 37634, 11 78472, 64919
(iii) Cusp Shapes = Zru™” + S7ru + - 4787 U T 4787




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

C1,C5 u'® +ut? —utt = 3ut — 20 P - 208 - dut - 20— 20 -1
C2 ut® — 3ult — 2010 4+ 3u® + ¥ — 9u” — 1108 + u® — 2ut — 10u® — 3u® — 1
€3 u® +10ur? + -+ 19u+ 5
= u =Tt o 2u 1

C6, C11 u? —uP 4 u—1
cr SR SIS I |
cs SRE S S e S

€9, C10 u® —Tutt o 2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs gt =3yt 4y —1
C2 y13_6y12+"'_6y_1
Cs y'? — 18y + ... — 59y — 25
C4,C9,C10 y13 —14y12+--~—|—12y— 1
C67c77cll y13_7y12+_9y_1
68 y13_2y12+.+10y_1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.900740 + 0.5336691
= —1.166450 — 0.2612491
—0.900740 — 0.5336691

1.59640 + 3.38566.1

2.41525 — 6.493531

0.900740 — 0.5336691
—1.166450 + 0.2612491
—0.900740 + 0.5336691

1.59640 — 3.385661

2.41525 + 6.493531

0.134578 + 0.8832771
—1.058690 — 0.3195371
—0.134578 — 0.8832771

—8.02879 — 2.871551

—15.3113 + 3.59151

0.134578 — 0.8832771
—1.058690 + 0.3195371
—0.134578 4 0.8832771

—8.02879 + 2.871551

—15.3113 — 3.59151

= —0.529571 + 0.5328701
0.059596 — 1.1499301
0.529571 — 0.5328701

—5.39720 + 0.766331

—5.46823 + 1.578371

—0.529571 — 0.5328701
= 0.059596 + 1.1499301
0.529571 + 0.5328701

—5.39720 — 0.766331

—5.46823 — 1.578371

—1.310290 + 0.3948461
0.714514 — 0.4887101
1.310290 — 0.3948461

—1.52980 — 2.821401

—9.56946 + 2.96660.1

—1.310290 — 0.3948461
0.714514 + 0.4887101
1.310290 + 0.3948461

—1.52980 + 2.821401

—9.56946 — 2.966601

—0.736626 + 1.1551901
= 0.633923 + 0.2419781
0.736626 — 1.1551901

—4.89940 — 5.645041

—5.13604 +- 4.518361

—0.736626 — 1.1551907
= 0.633923 — 0.2419781
= 0.736626 + 1.1551901

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—4.89940 + 5.645041

—5.13604 — 4.518361
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

u= 0.266732 4 0.5483961

1.77971 4- 1.814771

b= —0.266732 — 0.5483961

2.09623 + 2.922851

—9.7624 — 12.74381

uw= 0.266732 — 0.5483961

a=—1.77971 — 1.814771

b= —0.266732 + 0.5483961

2.09623 — 2.922851

—9.7624 + 12.74381

u = 1.54888
a= 0.193632 —13.7330 —11.3360
b= —1.54888

11



M. T¥ =

(1.31x 1016415 -1.74x 10414 4...4+9.52x 1017+6.51 x 1017, 1.98 x 101515 —

3.11 X 10Mu 4 ... +5.49 X 107a + 2.29 x 107, 16

(i) Arc colorings

()

ag =
o= (o)
1
al = u
—0.00359503u° + 0.000566220u* + -
ag = —0.0137742u' 4 0.0183096w: + -
0.0101791u1% — 0.0177434u4 + -
as = \ —0.0137742u° + 0.0183096u* + -
0.00188225u1° + 0.00703654u'* + -
ag = \0.00958945u'® — 0.0187823u!* + -
—0.0135877u'® 4 0.0698365u!* + -
az = \0.00578290u'® — 0.00717672u* + -
—0.0142111% + 0.0554273ut4 + -
ag = 0.0136940u:15 — 0.0307409u4 + - - -
0.0120905u1% — 0.00811315u4 + -
a7 = | 0.0004522094° — 0.00935974u4 + -
0.0142111u% — 0.0554273u4 + -
—0.000623414ut5 — 0.0144091u14 +-
0.0101791u° — 0.0177434u* + -
a10 = \ —0.000703594u'% — 0.0268404u + -
0.0101791u% — 0.0177434u4 + - -
a10 = \ —0.000703594u'% — 0.0268404u'* + - - -
(ii) Obstruction class = —1

(iii) Cusp Shapes
_ 1227691828059108
~ 13401481882079569

_4398465163137376
13401481882079569

12

u14+...

—3ul® ...+ 14u +41)

—0.579421u — 0.416256
— 1.40476u — 0.683692

-+ 0.825342u + 0.267436

— 1.40476u — 0.683692)

- —0.906661u + 0.946317
-+ 0.0486549u + 0.591789

- —0.200013w + 1.71159

-4 1.12471u + 0‘593614)

+ 1.37818u + 1.26107

- — 1.17466u — 0.0740275)

— 0.603268u + 2.05812
— 0.586534u — 0.0426882

-+ 1.17466w + 0.0740275
-+ —0.974645u — 1.78562

-+ 0.825342u + 0.267436
- —0.00122333u — 1.20825

+ 0.825342u + 0.267436
—0.00122333u — 1.20825

4 68931370501080476
13401481882079569

_199658948531840914
13401481882079569




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,65 u'® —3ut® 4 4 14w+ 41
C2 u'® —u'® 4 .. — 398u + 359
3 (u* + 3u® +u? — 2u+1)*
C4, €y, C10 (u? +u—1)%
Cg, C7,C11 u'® — ! ... — 314u + 59
cs (uf — B+ u? + 1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C5 y'o —y'® ... 46528y + 1681
C2 Y% — 13y + ... — 519558y + 128881
s (y* = 7y° + 159" — 2y +1)*
¢4, €9, C10 (y* =3y +1)°
16 15
cg, C7,C11 y o —21y° 4+ .- — 63668y + 3481
8 (y* + 9>+ 3y + 2y + 1)?

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.070726 + 1.1099901
—0.866375 + 0.7122011
—0.71670 — 1.636881

—7.02670 + 3.163961

—10.17326 — 2.564801

0.070726 — 1.1099901
—0.866375 — 0.7122011
—0.71670 + 1.636881

—7.02670 — 3.163961

—10.17326 + 2.564801

0.779961 + 0.8101341
0.678421 + 0.2188951
2.29306 — 1.4582171

—14.02850 4 1.415101

—13.8267 — 4.90871

0.779961 — 0.8101341
0.678421 — 0.2188951
2.29306 + 1.458211

—14.02850 — 1.415101

—13.8267 + 4.90871

—0.749741 4 0.4354561
1.37743 — 0.415451
0.996480 — 0.6367121

0.86898 — 3.163961

—10.17326 + 2.564801

—0.749741 — 0.4354561
1.37743 + 0.415451
0.996480 + 0.6367121

0.86898 + 3.163961

—10.17326 — 2.564801

0.996480 + 0.6367121
= —1.021930 — 0.2615381
—0.749741 — 0.4354561

0.86898 + 3.163961

—10.17326 — 2.564801

0.996480 — 0.6367121
—1.021930 + 0.2615381
—0.749741 4 0.4354561

0.86898 — 3.163961

—10.17326 + 2.564801

—0.062069 + 0.7009051
= —1.063840 — 0.4077261
= —1.11172 — 0.948451

—6.13277 — 1.415101

—13.8267 4 4.90871

—0.062069 — 0.7009051
= —1.063840 + 0.4077261
= —1.11172 + 0.948451

> Q@ 2|l @ €| & 8|l @ €| @ €| & €| & &8> & 8| & 8| & &

—6.13277 4 1.415101

—13.8267 — 4.90871

15



Solutions to I¥ v —1(vol + v/—1CS) Cusp shape

= —1.11172 4 0.948451
0.136782 — 0.5312591 | —6.13277 + 1.415101 —13.8267 — 4.90871
—0.062069 — 0.7009051

—1.11172 — 0.948451
0.136782 + 0.5312591 | —6.13277 — 1.415101 —13.8267 4 4.90871
= —0.062069 + 0.7009051

= —0.71670 4 1.636881
0.658359 + 0.2321271 | —7.02670 — 3.163961 | —10.17326 + 2.564801
= 0.070726 — 1.1099901

—0.71670 — 1.636881
0.658359 — 0.2321271 | —7.02670 4 3.163961 | —10.17326 — 2.564801
0.070726 + 1.1099901

2.29306 + 1.458211
—0.033000 — 0.2931541 | —14.02850 — 1.415101 | —13.8267 + 4.90871
0.779961 — 0.8101341

2.29306 — 1.458211
= —0.033000 + 0.2931541 | —14.02850 + 1.415101 | —13.8267 — 4.90871
= 0.779961 + 0.8101341

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
c1,cs (u'® +u'? — ' — 30t — 20 4 u® — 208+’ — 4ut — 20® — 202 1)
St = 3ut 4 Mu 4D (W = —u )
o (u'® — 3u™ — 20" + 3u® + u® — 9u” — 11u® + u® — 2u* — 10u® — 3u® — 1)
(' — w4 = 398u + 359) (u'? — 10u'” + - - + 21u + 6)
cs (u* + 3u® +u? — 2u + 1)) (u'® + 10u'? 4+ - + 19u + 5)
S(u'® = 9u'® + - 4 52u — 16)
4 (u? +u—1D% W —7u + - 4 2u+ 1) (u' — 9u'® + - — 4u? 4 16)
Co, €11 (u® —u? 4w — 1) (u'® —u® 4 — 314u + 59)
(Ut 2u 1)
ey (w4 u? 4w+ 1) (' —u® - = 314u + 59)
St Ut 2u 1)
cs (u* =+ + DHW® —6ut? + - —5u? +1)
(ut +9ut® 4 34w+ 4)
Cg, C10 (u? 4+ u— 1) = 7u™ + - 2u —1)(u' — 9u'® + - — 4u® + 16)

17



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1.0s (y13 . 3y12 4+ =4y — 1)@16 _ y15 4o+ 6528y + 1681)
Sy 15y 4 4Ty — 1)
co (y'? — 6y12 4 - — 6y — 1)(y'® — 13y + - -- — 519558y + 128881)
(y"? —20y"8 4 -+ + 273y — 36)
cs (y* = 7y + 15y — 2y + DH ("2 — 18y*2 + - .- — 59y — 25)
(y"? — 25" + - - + 6064y — 256)
C4,C9, C10 ((y2 _3y+1)8)(y13 - 14y12++127}— 1)
(M =17yt 4+ 128y — 256)
corcren | WP Ty =9y = 1) — 219" + - — 63668y + 3481)
Sy =33y 12y — 1)
cs (W +2 + 32+ 20+ DY (P — 22+ + 10y — 1)

.(ylg_y18+,.._116y—16)

18



